Is my paycheck correct?

Your October pay warrant should reflect the .5% salary increase from last year. November will include
the additional 1% and January will have the final 1.5% increase.

To verify that you have received your pay increase, please check your September pay warrant to see
how much your current regular earnings were for the month. Multiply that number by 1.005. The new
number should match your current regular earnings for October.

An example for a teacher on 10-pay in cell C’-10.

multiply by Cc'-10
Cc'-10 10-pay in 1.005 for 10- with
annual | September | payin October | .5%
$69,615 | $6,961.50 $6,996.31 | $69,963

An example for a teacher on 11-pay in cell C’-10.

multiply by Cc'-10

Cc'-10 11-payin 1.005 for 11- with

annual | September | pay in October .5%
$69,615 | $6,328.64 $6,360.28 $69,963

An example for a teacher on 12-pay in cell C’-10.

multiply by Cc'-10

Cc'-10 12-payin 1.005 for 12- with

annual | September | pay in October .5%
$69,615 | $5,801.25 $5,830.26 $69,963




